(—fZF A)

BIN—M G 2B AR —F A I

S2E108118(H)

HWLABRT=Xa—+
1eybh<yvF /—FRNT—I(6—-6%2/14TL—2)

L —FRIEDA12BT

9:30
A/S—bk 1 2 3 i B | IE M
) IRyl -6 | 7-6(4) | 1-1 3
HE#HT TICF Ry b 8/20=0.4
) T WY JoG's o1 4t - 1
HLEETF L—t > R 10/17=0.59
WL %0 BFTC 2
3 - 6-7 6-4 1-1
FHEED IZ =R 12/23=0.52
9:30
B/S—hk 1 2 3 i B | B M
1 EHT= ERROBE 6o ot ’0 1
MR E & ERROBE
O < —Jb
2 — 2-6 6-3 1-1 2
REEX 7707
B F IL—+t v hEE
‘luamFE  |mmesso 6] 3 02 3
#HAElEF O01—2) Q@n#KE—3) OFEYHESE)
(—R&&ZF A) REEE—F AR
T wY
FHEETF
SF 64
T-#HE
B e
KEEH
. 63 {2 EHT=
i5 B - 1R R R & h
WL %0
HEEED EEH T Y
SF 61 FHEETF
;5 B - #h R
EHT= 31i B2
MR E & KEEH
31 WL A

M~ HEED




